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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.
(2) All questions are compulsory.
(3) Draw a clean diagram/ map where needed.
(4) Candidates can use stencils map.

1  Explain the meaning of environmental hazards, give a 14

detailed understanding of any one environmental hazards.

OR
1  Explain in detail the various landscapes created by the 14
action of groundwater.
2 State the different types of Weathering and give detailed 14
geographical report on chemical Weathering.
OR
2 Explain - Cycle of erosion given by W.M Davis. 14
3  How are inselbergs formed ? Explain with diagram. 14
OR

3  What is Weathering ? Detailed discussion of factors affecting 14
Weathering.
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4  Explain in detail the landforms formed by the depositional 14
action of ocean waves.
OR
4  Explain in detail the meaning of glaciers, the landscapes 14
created by the work of glacier deposition.

5  Write short note : (any Two) 14
(I) Loess
(2) Usefulness of physical geography in transport.
(3) Abrasion
(4) U-shaped valley.
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